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ii.2 Conversion of absolutes
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[2.2.1] Now that this has been proved, let us show whether the univer-
sally quantified affirmative converts. What form should it convert to?
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To universally quantifieél affirmative, or to existentially quantified? And 88.5
does it or doesn’t it stay absolute? We say: when
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it is given that
(1) EveryCisaB.
it doesn’t follow that
(2) EveryBisaC.
An example is:

Every human is an animal,
but not every animal is human.

)
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Also we have:

Every human watches;
but not everything that watches is human.
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So a universally quz;ntiﬁed affirmative proposition need not convert to a
universally quantified affirmative proposition, since
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sometimes its predicate is more inclusive [than its subject].
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[2.2.2] But conversion of this proposition to an exis’gentially quantified
proposition does have to hold. Thus when it is given that 88.9

(5) Every(CisaB.
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it follows that
(6) Some BisaC.
The customary proof of this is to say: 88.10
If it’s not the case that some B is a C, then
(7) NoBisaC.

And this proposition converts to:

(8) No Cisa B.
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But it was given that every C is a B, and this is an absurdity. This is the
proof that is given

oW aa 3
in this chapter [of the First Teaching]. )
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[2.2.3] We should examine this proof to see whether it is sound or not. 88.14
One issue is that if
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the contradictory negation of an affirmative existentially quantified abso-
lute proposition is a negative universally quantified absolute proposition, 88.15
and it is correct
Transcription checked 24 June 10. Readings checked 24 Dec 12.
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that some strict [absolute propositions of this form] don’t convert, then this
is not a proof. As you know, the point is that when
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you take the contradictory negation of a proposition, you have to specify
the circumstances and the time. At this point [Aristotle] doesn’t bother to
specify any status or time
{NB .haal wa-wagqt (twice).}
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in either [the proposition or its contradictory negation], so as to ensure that
the negative statement is the [contradictory] opposite of the other, and that
it is well-defined when the absurdity [is shown]. [Without the specifica-
tions] this universally quantified negative proposition is not the [contra-
dictory] opposite [of the affirmative proposition] and need not even
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convert this way. We say: In spite of these two objections [(to the taking of
an opposite
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and to the conversion)], this proof is still correct. This is because if the
speaker speaks falsely when he says

(9) Some BisaC.
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the falsehood implies at least that there is nothing that is [at some time] a
B and is also at some time a C'.

S35 o a1 b By O jan s 13]G (Yl
If there was a B that was at some time a C, and then he said (9), then what
he said would be true, regardless of the time and circumstances.
{His claim is that (9) has a minimum reading, viz. that something that at
some time is a B is at some time a C. This minimum reading allegedly will
always follow from any reading of ‘Every Bisa C". }
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And if it is true together with this that every B
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is not at any time a C, then in that case this universally quantified negative
absolute is not the contradictory of the existentially quantified

TERTCR PR I MUY i G ROICE N P IR EINT
affirmative proioosition (9). But if one falsely says (9), ‘then the thing that 89.10
one could say truly and not falsely
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is precisely that

(10) None [of the things that are at some time Bs] are C's at any time.
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so the contradictz)ry negation of the affirmative existentially quantified ab-
solute proposition (9) is this negative proposition (10), and it was already
clear from the form of (10) that
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it converts to a proposition in the same form, which is incompatible with
(9) however it is taken, and a fortiori incompatible with
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the universally quantified proposition (5). So therefore this proof is sound.
oK Legas el e Sllall s ol
[2.2.4] But if the absolute proposition (9) is taken in the/a narrower
meaning, (10) is not 89.14
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its contradictory; (10) could be false, not because (9) is false, but because 89.15
the predication [in (9)]
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is permanently true. In that case (10) would be false, but the proposition
taken to be its contradictory negation in the standard treatment doesn’t
have to be true

AHERET

so as to get an absurdity.
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Soit’s clear from this that the First Teaching had no intention of proceeding 89.18

Transcription checked 24 June 10. Readings checked 25 Dec 12.
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according to this choice of interpretation of an absolute proposition. But if

the absolute is taken in the narrower sense,
{Here ‘the narrower sense’ as if just one. }

i 3 LYl el ois
then its convertibility is clear in the light of the ecthesis that we will indicate
later.

W3 sl 3 10V sk

[2.2.5] And now we say: the contradictory negation of
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‘Not every’ (read absolutely) is ‘Every’, but with the relevant predication
made permanent. The contradictory of a universally quantified broad-
absolute proposition,

{First sentence bizarrely brief, but it seems to imply that just one sense is
being discussed. }

By plgll e Jay s T2 9 cmenll FLIT Gl K sl
taking together both the affirmative and the negative propositions, is an ex-

istentially quantified proposition which signifies permanence [of the pred-
icate].
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You have already met the difference between permanent and necessary.
One has to take care of [all] this in all the cases that we are talking about.

URNFLSY] a]ww@}sz&ngﬁd‘#"dy‘ 0l
These are fundamental points that you will have to remember for yourself,
because people don’t bother with them.

{NB Ibn Sina claims independence from the tradition. }
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[2.2.6] We say: It’s possible to prove this conversion both by instantia-
tion and by ecthesis. The former runs as follows.

{’This conversion’ is at 88.9f. }

90.3
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If every C is a B, then let one of the things fitting the description C be
specified; let it be d. Then
{NB Ecthesis using an individual. }

WAy Sl OGooge > 98 Nl Oy Deogll. O sy = 98 5
disa C anditis a B. Then the thing fitting the description B, namely d, fits
the description C. And likewise
{NB An example of p A ¢ being taken as trivially equivalent to ¢ A p. Also
the step from ¢(d) to Jz¢(x) is obviously intended but not mentioned. }

gg)j SB o AUl e Joldl das b Wbd e @l O Ol (Ke s
it’s possible to prove [the conversion] by absurdity, using a syllogism which
the excellent later [philosopher] made, thus. If it is not the case that

{The proof of the conversion here is a doublet of 81.1-4 above. }

Lyoye
some Bisa C, thenno Bis a C; this is a negative absolute proposition with
the meaning “for as long as its essence continues to fit the description
{NB The demonstration is only claimed for one kind of negative absolute. }
{Also the formulation is ambiguous about the scope of ‘for as long as’; if
the reading of ‘Some B is a C” is the same as above, then what he should
intend here is: Nothing that is at some time a B is at any time a C'. But what
he says is at odds with this. In any case is the syllogism still perfect when
we take into account this condition? }

> et Vil e o8 bl A o 08 2 el
B’. But we had ‘Every C' is a B’, which entails by a perfect and natural
syllogism thatno C'isa C.
{NB Syllogism with two terms equal, described as ‘natural’. }
{Street’s choice of ‘No C'is a C" is probably the best reading. The one with
D is impossible. }

s e
This is absurd.
{No absurdity yet; ‘No C is a C” just entails there are no Cs. This does

90.10
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contradict ‘Every C is a B because of the existential assumption, but both
the excellent philosopher and Ibn Sina should have mentioned this. }

15) 55 S Ll GO Lyl Wl 1535 e Lo oKl e 1 G
;] What form does this converse take? We answer that it is broad 90.14
absolute. When

9o Lite on b jae 055 O ot (b By gl il L3 08

(11)  Every writer is a watcher, i.e. at some time.

it doesn’t have to follow that 90.15

Some watcher is a writer for as long as his essence is satisfied (or
even for as long as he watches).

(12)

Transcription checked 25 June 10. Readings checked 25 Dec 12.
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In some topics such a converse has to be true, for example
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Every human is an animal, i.e. as long as it continues to exist, and

(13 permanently.

and

(14) Some animal is a human, i.e. so long as its essence continues to
be satisfied.

.5\...” OB Loglay Hliag .1
These two are both included under broad absolute.
{NB But here is it clear that ‘broad absolute” includes different sentence
forms? }

S s 1) 6) sy of Sy
[2.2.8] Someone might well say: 91.3

Given that
(15)
Every writer watches.

Se> 90 H: L ¥ 43&5 Lifue oa b e :)‘ < fj ¢ Lad e
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it follows that some watcher is a writer for as long as his essence
continues to be satisfied.

thidaadl Jan s LK ga G e CIKDN UG 13) G] U3
s,

The argument is that in the sentence 91.5

10
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(16)
The writer while he is a writer is one of the watchers.
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the writer himself while he is a writer is a writer so long as his
essence continues to be satisfied, and he is himself

L o6 b claadlus &) d Yy b jand Lz ludl Olegoge jan
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one of the subjects for the predicate ‘watching’. So something
that fits the description ‘watcher’ is a writer for as long as

his essence continues to be satisfied. Hence in this case the
proposition does convert to a necessary one.

G W sl s Yy 2l B6 3l Gy lyn g i
[2.2."9] We"say in answer to this: In the first place, we are just éxplaining,
and this is not a debate that we are personally
{So this is somebody else’s suggestion. The min haythu suggests al-Farabi,
although this seems to be a different use of min haythu from below. }
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involved in. So we say: The fact that some watching person is a writer for
so long as his essence continues to be satisfied doesn’t prevent

Aelg] Bas W Gaw e Y 554 O LS G .3 ) O 65
there being other watching people who are not like that. With existentially
quantified propositions, the truth of a denial doesn’t prevent the truth of
[the corresponding] affirmation,

{The corresponding affirmation is got by swapping the quality without
changing the quantifier. }
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and in just the same way the truth of ‘Some B is a C' with necessity” doesn’t
prevent the truth of the proposition ‘Some B is a C but without necessity’.
Thus some bodies

§yozn s b pany OF 0L 8yl Y o) Lamr s 08,5 pall o
are white necessarily, and some are white but not necessarily. So if some-
thing of which ‘watching’ is true

Wiy e s eiand Y boall bisl 13) 8, wall Lok Lt
is a writer with necessity when we adopt the condition ‘while he is a writer’,
[it can still be true that] without the condition the same holds

B9 el e bl

but not with necessity. 91.15
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[2.2.10] Also if we compare this argument with the truth of the matter,
we are under no obligation to concede that 91.15
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the writer, while he is a writer, fits the description ‘watching’. The essence
of the writer under the condition that
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he is taken as just a writer doesn’t fit the description ‘watching’. The con-
dition is just that he is a writer
{NB At this point he shifts to a different reading of min haytu, viz. from ‘C
isa Bwhileitisa C’"to‘C'is a B as part of what it is forittobea C". }

Transcription checked 25 June 10. Readings checked 25 Dec 12.
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without any addition. If a person is just a writer, how could he also be a
watcher? He would be just a writer who is not just a writer.
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Rather, when ‘writer” is taken absolutely, regardless of how it fits the de-
scription ‘writer’, it’s possible that

oo At Gl 5y il Y Ly il Byl a OF S 05
he does fit the description ‘watcher’, regardless of how, but it will not be
with necessity. When things are taken

o U degase 0555 Y i aleall g Lty g asgio o
as just what is in their definitions, and a condition is made to abstract from
any accidental properties they may have, then they count only as subjects
for
{NB Here a min haytu is described as a condition which strips off the acci-
dents. }
{More precisely, we have a subject of the form ‘X min haytu Y’; the proper-
ties that can truly be ascribed to X min haytu Y are those that X has which
are the form allowed by Y. Note for example that ‘A and B’ can be true of X
min haytu Y without either A or B being true of it. }

their definitions and what is in their definitions.

o o (08 g8 o oo Wed Kl é--"-w“ff
Also you are going to learn that the phrase

(17)  while he is a writer

is not a part

50 I sn e IS e sy (B sl e

of the subject at all in sentences like

(18)  The writer while he is a writer watches.

13
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Rather it is a part of the predicate. And we will use this to prove to you
that the doubt can be resolved in a second way.
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We return to what we said before: A converse of an absolute proposition of
either kind doesn’t have to be anything but broad absolute. The reason is

KT Wy (23l ket N5 Loy sl dllal) il o) Y
that if you take a narrow-absolute proposition, you find that it could con-
vert either to a narrow-absolute proposition or
{NB Here it seems he confuses rules for conversion with facts about matter.

}

Lide oa b am Koy aidae L3 )Y Jle G o
to a necessary proposition. An example of the first case is 92.10

(19)  Every writer watches.
which converts to

(20) Some watcher is a writer (which is not with necessity).

O Koy (3,5 @l ¥ uitte glud] 75 31 Jey 55,000 Y LK
An example of the second is: )

(21)  Every human breathes (which is not with necessity).

converts to
85l Old] iy Lo any

(22) Something that breathes is a human (which is with necessity).

Gllall G ol K Jlo e 31
[2.2.10] Now that you know the facts about unive"rsally quantified affir-
mative absolute propositions,
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you should likewise be aware of the facts about existentially quantified af-
firmative propositions, namely that they convert to the same form as them-
selves, existentially quantified affirmative. The proof

ks Ity ¥ Ol s Ol 3

is the same proof, which is a good reason not to spend more time on it.

Transcription checked 25 June 10. Readings checked 25 Dec 12.
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[2.2.11]Thave alread"y mentioned examples in which we contradict what 93.1

we said about the conversion of a universally quantified affirmative propo-
sition to an existentially quantified proposition.
{Does he mean the discussion at 90.15ff?

Sode e ol 5 olls Le;f.,\.u Qi AN <\4;(La:\.-.3 Q;‘ CL&" Mo
There is no need for us to count all of them, but rather one should mention
what we said in the answer about the terms

Ao ) e ol 311585 oK ¥ R DL G L G2 e f
that I mentioned as intended to show that a negative universally quantified
proposition need not convert. The nub of the matter is that you have to
consider the whole
{What did he mention? The answer or the terms? I would have expected
‘awradtuhu in the first case and ‘awradtuhd in the second. Also is it the terms,
or is it definitions (which he did mention a propos of whether a condition
could limit to definitional properties)? }

<]

subject and the whole predicate, so that when you swap around you leave
each of these exactly as it was before, and you don’t remove or alter any of
its parts. I mean that

i o b Kl s J3Y) e gay ate w13 g1 sk ]
if you remove part of a term, then even if you keep the original properties
that the proposition had before the conversion, intending to keep

s JJA’J‘ CACYEN \Sj el:b AWy (SA\ A< ‘) Sl - UL.AJB gl.ﬁ";\”
it as an affirmation or a negation at the same time as you remove part of it,
the outcome is not secure. If you keep the predicate just as it was,

and the subject just as it was, but you swap them around, you won’t have
made a mistake and you won’t have deceived anybody.

16
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[2.2.12] As for negative existentially quantified propositions, 93.7
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they don’t convert. Thus when not every animal is human, or not every
human is a writer, it doesn’t have to be the case that

Ll 36 F ) blge old) F 0 Y o

that not every human is an animal, or that not every writer is a human.
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[2.2.13] There another species of conversion that we have to examine,
namely the one called contradictory conversion. 93.10

0Bl Loy legsge Jamd Jseddl a3l Lo 385 Ol sag ¢ il
In this one takes the contradictory negation of the predicate and puts it as
subject, while the contradictory negation of

ol O g oo JTUB )15k Nsek Jamss ¢ 5ol
the subject is put as predicate. So we say: when
(23) EveryCisaB.
it follows from this that
(24) Everything thatisnota Bisnota C.

{NB Clearly here the subject doesn’t include the quantifier.}
b gand 7o o oo o o o b e 0SB N ¢ 2 e
For otherwise something that is not a B is not nota C, soitisa C. So

(25) Something thatisnota Bisa C.

{NB laysa laysa cancels. }

Bly. g F Wy ool sa mogalo jamd oKt ¢ £ sa0

which converts to give

(26) Something that is a C' is something that is not a B.

17
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But we said that every C'is a B. Also

e F e o F e L s

if 93.15
(27)  Everything thatisnota Bisnota C.

it is true that every C'is a B. For otherwise it is true that not every C'is a B.

-~ LRC| KPR TN Uy VA PRSI

Then some C has B denied of it. But then by (27) this some C'isnota C.

NN

[2.2.13] But when we say: 93.16

(28) NoCisa B.

Transcription checked 25 June 10. Readings checked 26 Dec 13.
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it doesn t follow that nothmg that is not a B isnota C’ Thus when you say

(29)  No human is a stone.

Jﬁgw‘@ﬁj“duﬁfﬂ@\a‘.ﬁu‘gﬁﬂdrﬁ3

5)lns
it doesn’t follow either that nothing that is not a stone is not a human, or
that nothing that is not a stone

Mu;wwvbwu&?o)ewuwﬁ& (olud] 9a
is a human. But it does follow that something that is not a stone is a human.
For otherwise nothing that is not
{NB Surely it doesn’t follow without the further assumption that there are
humans. This illustrates the dangers of trying to prove general laws by
particular examples. }

wsw\fhb%%\a&uduﬂU‘ sd\.MszuL.Mj,aoJ\a&
a stone is a human, so that no human is not a stone, while (29) said that
nobody

R N S N R B PR e

is a stone. And when we say: 94.5

(30) Some Cisa B.

it follows that something that is not a B isnota C'. In fact

o b G 05K e O 5 7 s ) Sl 5l Dlisage s sy
there are existing or nonexistent things that lie outside both C' and B, so it
will be that something that is not
{NB Here he quantifies also over nonexistent things. Also contrary to what
Ibn Sina says, this seems not to be a deduction from (94.5) at all, but a use
of default assumptions about universals in general. }
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a Bisnota C. Also it follows from the sentence
(31) Notevery Cisa B.

that not everything that isnota Bisnota C.

(Al et ey O sz b O 2 o b S Y
For otherwise everything that is not a B is not a C, so everything that is a
C'is a B. But there are things here that we need to take another squint at,

G lsll Ol Lmslge gt O 5Vl

and the best place for us to do that is the book of appendices.

Transcription checked 25 June 10. Readings checked 26 Dec 12.
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